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88 98 108 118
1 |x| EEHEHRSE | EENE x rE B EENE 1
2 |8 EEHEAS [« EENE & EENH A *RE 2
3 |A rE ® rRE + EENE * EENE 3
4 | EBAE & EBAE B EBAE x EEA 4
5 |« EEHERS || EEHEBHE (A rE ® K& 5
6 | EEHREHS = EEHBHSE | EENH & EENE 6
1 |2 EEHBHE |7 rRE x EENE + EENE 7
8 | rE x EENE x rE A EENE 8
9 |8 EEHEERAS [« EENE & EENE A K& 9
10 |7 EEHEES |+ rRE + EENH * EENE 10
1|« EBAE & EBAE B EBAE x EEA 11
12 |« rE +| AEFERSE |8 rE ® K& 12
13 |* rE B EEHREHSE (* EENE & EENE 13
14 |2 rE A rRE x| EENH + EEA 14
15 |+ rE x EENE x rE B EENE 15
16 |= EENE x EENE & EENE A *rRE 16
17 |8 EENE x rRE + EENE x EENE 17
18 |x EBAE & EBAE B EBAE x EEA 18
19 || EREIHE | ARXKE |8 rE ® rRE 19
20 (x| AXXE |8| AXKE | JEENE & EENE 20
21 || AXXE= |7 XK= |« JEENE + EENE 21
22 || XXz |x| 2aXX= |* rE B EER 22
28 |= rE x| AXKRE (= EENE A K& 23
24 |8 rE * rRE + EENE x| EENH 24
25 |« EBAE & EBAE B EBAE x EEA 25
26 (% EEAH x| HEENH A rE * rE 26
21 |* rE 2 rRE X EENE | EHAH 27
28 |2 EBAE A EBAE * EBAE = EHA 28
29 |+ EEIE x EENE x rE A EENE 29
30 |= rE x EENE & EENE A rRE 30
EmA 10 14 22 21
akkS 3 5 0 0
Rk 7 4 0 0
thaa 11 7 9 9
tha A/ 2.8 18 2.3 2.3
9A 10AR 118 128




